Unit A Biological Diversity

Topic 2.0 Assess Your Learning
Name:  ________________ 9 __

Key Concept Review

     1.  Give three examples of a heritable characteristic.

1.

2.

3.
2. Make a table to compare the advantages and disadvantages of sexual and asexual reproduction.

	Type of Reproduction
	Advantages
	Disadvantages

	Sexual
	
	

	Asexual
	
	


3. An amoeba reproduces by binary fission.  Briefly describe the process of binary fission.  Explain whether it is an example of sexual or asexual reproduction.

Binary Fission:  __________________________________________________________________________________________________________________________

Sexual or Asexual?  Explain.

__________________________________________________________________________________________________________________________

Connect Your Understanding

4. A person with hitchhiker’s thumb plays guitar with a local rock band.  Explain how she displays both heritable and non-heritable characteristics.

Heritable:  ____________________________________________________

Non-Heritable:  ________________________________________________

5.  Compare the process of fertilization in plants and animals.
Plants:

__________________________________________________________________________________________________________________________

Animals:
__________________________________________________________________________________________________________________________

6.  Using a diagram, explain how a zygote forms in a flowering plant.  (Use the following terms to label your diagram:  stamen, pollen, pistil, ovules, egg, and sperm.)

7. Describe the steps of vegetative reproduction that occur when a plant is grown from a cutting.

__________________________________________________________________________________________________________________________


Why is this process considered to be an example of asexual reproduction?

__________________________________________________________________________________________________________________________

Extend Your Understanding

8. Imagine a population of Martians.  In this population, there are only three types of eye colour:  black, bright purple, and orange.  However, there are many different leg and arm lengths in the population.  How would you describe the variation for eye colour as opposed to the variation for arm and leg length in the Martian population?

Discrete variation:  _______________________________________________

Continuous variation:    ____________________________________________

9. Imagine an organism that lives where there are often big changes in environmental conditions.  What type of reproduction would be more advantageous for this organism?  Explain your answer.

__________________________________________________________________________________________________________________________
